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(n=55) (n=38) (n=17) (n=35) (n=15)
67 63, 76.5 65 62, 73.8 73 66, 80 0.0421) 65 61.5, 72 73 70, 77.5 0.0121)

   % (N) 61.8(34) 68.4(26) 47.1(8) 78.8(26) 21.2(7)
 % (N) 38.2(21) 57.1(12) 42.9(9) 52.9(17) 47.1(8)
 5 2, 9 4.5 2, 9.8 5.0 1, 9.0 0.8263) 3 2, 9 8 4.5, 14.5 0.1673)

% (N) 47.3 (26) 50.0(16) 58.8(10) 0.3922) 51.4(18) 40.0(6) 0.6652)

BMI kg/m2 20.42 (3.13) 20.45(3.10) 20.35(3.29) 0.9081) 21.45(2.81) 18.07(2.35) 0.00021)

Alb  g/dl 3.66 (0.42) 3.75(0.42) 3.59(0.40) 0.1101) 3.69(0.42) 3.71(0.42) 0.8831)

Hb g/dl 10.65 (1.25) 10.67(1.13) 10.60(1.51) 0.4553) 10.76(1.46) 10.43(0.85) 0.7033)

CRP mg/dl 0.08 0.03, 0.195 0.065 0.03, 0.138 0.140 0.03, 0.600 0.05853) 0.08 0.03, 0.175 0.06 0.03, 0.270 0.8333)

ECW/TBW 0.400 (0.012) 0.396(0.011) 0.409(0.012) 0.00131) 0.397(0.011) 0.405(0.012) 0.02111)

KCL total 7 5, 10 6 3.25, 8.75 11 9.00, 14.00 0.000053) 6 3.5, 8.5 10 6.5, 11.0 0.04853)

 1)  t  2) 2  3) Mann-Whitney U

p p

0.2282) 0.1182)



n=38 n=17 n=35 n=15
N(%) N(%) N(%) N(%)

1 8(21.1) 11(64.7) 0.0045 7(20.0) 8(53.3) 0.0434
2 5(13.2) 6(35.3) 0.126 3(8.6) 4(26.7) 0.213
3 10(26.3) 7(41.2) 0.432 7(20.0) 6(40.0) 0.260
4 19(50.0) 12(70.6) 0.259 17(48.6) 10(66.7) 0.386
5 8(21.1) 7(41.2) 0.222 8(22.9) 5(33.3) 0.673
6 17(44.7) 12(70.6) 0.138 17(48.6) 9(60.0) 0.665
7 10(26.3) 12(70.6) 0.0051 11(31.4) 8(53.3) 0.252
8 15 13(34.2) 8(47.1) 0.544 14(40.0) 5(33.3) 0.899
9 11(28.9) 7(41.2) 0.560 10(28.6) 4(26.7) 1

10 14(36.8) 15(88.2) 0.0012 12(34.3) 12(80.0) 0.0079
11 kg 10(26.3) 10(58.8) 0.0044 10(28.6) 7(46.7) 0.362
12 cm kg BMI  18.5

BMI (kg)÷ (m)÷ (m)
13 8(21.1) 7(41.2) 0.222 10(28.6) 4(26.7) 1
14 6(15.8) 3(17.6) 1 5(14.3) 3(20.0) 0.933
15 7(18.4) 6(35.3) 0.309 8(22.9) 3(20.0) 1
16
17 14(36.8) 12(70.6) 0.0429 15(42.9) 9(60.0) 0.422
18 1(2.6) 2(11.8) 0.462 2(5.7) 0(00.0) 0.875
19 9(23.7) 6(35.3) 0.522 7(20.0) 6(40.0) 0.260
20 10(26.3) 5(29.4) 1 9(25.7) 4(26.7) 1
21   8(21.1) 9(52.9) 0.0404 11(31.4) 4(26.7) 1
22   6(15.8) 6(35.3) 0.206 8(22.9) 2(13.3) 0.700
23   14(36.8) 13(76.5) 0.0153 15(42.9) 9(60.0) 0.422
24   8(21.1) 8(47.1) 0.101 10(28.6) 4(26.7) 1
25   8(21.1) 12(70.6) 0.0013 13(37.1) 5(33.3) 1
  No.1, 2, 3, 4, 5, 6, 7, 8, 16, 19 No 1 . 9, 10, 11, 12, 13, 14, 15, 17, 18, 20 25 yes 1  
  No16 2 3 .

p p

9(23.7) 6(35.3) 0.572 5(14.3) 8(53.0) 0.0113












